ENGR-2060

E.M. - DYNAMICS

NAME DATE

WEEK: PROBLEM:

GIVEN:

The angle # measures the direction
of the unit vector e relative to the v axis. The angle ¢ is
given as a function of time by # = 21 rad. What is the
vector de/dt at t =4 s?

REQUIRED:
SOLUTION:
Selution: By definition: The angle is & = [mod(2t%, 27)],—y = mod(32, 2} = 0.5841 rad,
where mod{x, ¥) (“moduolus™) is a standard fonction that returns the
de ( da ] remainder of division of the first argument by the second. From which,
ar = \ar )™
de : / Ry g = Ty
S— [E].:; =16 (1[‘05 {\D.SS41 + ?_] +jsin (0.5841 + T}:I
S %J A %J = —8.823i + 13.35]

is a unit vector in the direction of positive . The angular rate of
change is

da’]
|:_ = [41];=s = 16 rad/s.
di |i=s
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